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Study Guide: Solutions-Acid/Base
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Factors affect solubility

5. Why would you expect a packet of sugar to dissolve faster in hot tea than in iced tea? What
other variables can be changed to increase the rate of dissolving? |
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6. Explain why ethanol will dissolve in water and not in carbon tefrachloride.
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Polarity 7. Will magnesium sulfide dfssolve in nitrogen trichloride? ( electronegativies for

magnesium-1.2, nitrogen-3.0, sulfur-2.5, & chlorine-3.0)
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8. Make a drawing of the particles in NaCl solution to show why this solution conducts
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9. Which of the following are electrs
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10. What are the four possible units fur' melarity?
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E : 12 If 250.0 mL §Pa 0.96M solution of acetic acid are diluted to 800.0 mL, what will be the
approximate molarity of the final solution?
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Molarity
13. Calculate the Molarity of 27.92 grams of pofcwslurn oxndzng:sso!vcd in 250. mL.
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14. If a student has 52.89 grams of FeCl;, and needs to make a 3.00 mola solution with
it, what will the volume of the solution be? 5 5‘ q q D 1L
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5. Which of the following solutions will have the greatest concentration?
e 0 moles of solute dissolved in 1.00 liter of solution

2.0wwole /4 gy 2.0M

b 0.30 mole of solute dissolved in 0.60 liter of solution
0.3 0vr0le / "
0.60L = 0.50M

¢ 2. 0moles of solute dissolved in 10. liters of solution

2:0vrole /10, = (0.20M
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neutralization
d 0.10 mole of solute dissolved in 500.mL of solution
o0 0.10 mole /0,500, = (0,20 M
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